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o34 (a - b)(a® + ab + b?) & ZA7H5A?

® a®-b? @ a® -1
® a®+ b3 @ a®+ 3a’b + 3ab® + b3

B a3 = 3a2b + 3ab? — b3
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@D 10 ® 15 A 19 @ 21 B 25
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(4x* =523 +3x2 —dx+ 1)+ (x> —x +
Lol o] §-& Tab?
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@ 4x2 —8x+2 B 4x2 —6x4+7

® 4x2—4x+5
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a? - b?

® (a+b)(a-D)

@ (a-b)(a®+ab+b*) =a® - b?

® (a+b)(a®—-ab+b?) =a®+b>



10. ©h3 1919 AHHE AGHE, AFZFe EFCD = E

4A7Fgol1, AD = a, AB = b U, A7

GBFH 9] Ho]=? G—H
B—=

® a® - 2ab - b? @ a® + 3b? - 2ab

® -a® + 3ab - 2b? @ -a® + 3ab - b?

® —a? +2ab - b?
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12. a24+024+c¢2=9,ab+bc+ca=9, a+b+c2 F2?
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@ +3+2 B V6
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o] 3r2?

@D 3 @ 6 ® 9 @ 14 ® 17
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